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The figures in the margin indicate
full marks for the questions.

Answer any five.

1. (a) A plate load test was conducted on a
uniform deposit of sand and the
following data are obtained : 16

Pressure (kN /m?) :| 50 |100 | 200 | 300 | 400 | 500 | 600
Settlement (mnm) :[1.5| 2 | 4 | 7.5|125[ 20 | 40

The size of the plate was
750mm x 750mm and that of the pit
3.75mx 3.75mx 1.5m

(i) Plot the pressure settlement curve
and determine the failure stress.

Contd.
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(b)

(b)

(c)

Describe the standard penetration test.
Explain the corrections of observed
N-value. 8

What are the different criteria for
satisfactory action of a machine
foundation ? 6

Determine the safe load that can be
carried by a square footing of 2mx2m

. placed at a depth of 1.5m below G.L.

The foundation soil has following

properties :

y=1.65t/m>, c=1.4t/m>, ¢ =20°,

assume a FOS=3. Given for

¢$=20° N, =11.8,N, =3.8, N, =13,
10

Explain a borehole log. 4

6. Write short notes on: (any four) 4x5=20

(@)
(b)
(c)
(@)
(e)

Vibroflotation | .%L-\urwu
Gronting ' u‘?g

Stone column IQ:

Critical depth of pile
Components of well foundatio;'?‘.'-'-f'a-n;r_r-..c_ o
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